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Please check that this question paper contains 8 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 4 questions.
Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer script during this period.
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Instructions :

(1)
(i)
(iii)
(v)
)
(i)

Attempt all the questions.

Use both sides of the drawing sheet, if necessary.

All dimensions are in millimetres.

Missing and mismatching dimensions, if any, may be suitably assumed.
Follow the SP:46-2003 revised codes. (with First angle method of projection)

In no view of question 1 are hidden edges/lines required.

(vii) In question 3, hidden edges/lines are to be shown in views without section.

(viii) Number your answers according to questions.
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Construct an isometric scale.

Using it, draw the isometric projection of the following :

(a)

(b)

(3

A frustum of square pyramid (base edge 60 mm, top edge 50 mm, height
70 mm) keeping it erect and its axis perpendicular to H.P. Two of its base edges
are perpendicular to V.P.

A hemisphere (diameter 80 mm) is placed centrally on the top hexagonal end of
a hexagonal prism (base edge 30 mm, height 60 mm). The circular face of the
hemisphere is upwards. Two of its base edges are parallel to V.P. The common
axis is perpendicular to H.P.

Give all the dimensions, axis and direction of viewing for both (a) and (b).

% | 6 =g (BSW) fafewr ®ved fgeadd (British Standard Whitworth) i
(thread) %1 YUT 36K 9 WHEe 1 : 1 i G0 § 500 | o2 g€ fm =t 50 fadt
& | |t AEE AEE T |

Hgar

% o f@ee @ iEe (Single Riveted Lap Joint) & 3FWriia ¥5q@ T¥d &,
16 fiaet oier it wie & fog, 1 1 = A F 990 | 9 aEs sEm E

2

7

14



for more materials visit www.educationobserver.com/forum

68/1

@) 3 AT @A gL, TF FoR L (collar stud) (W 20 ity & woym 797 ik
Y ¥ I IR SA10 | WY WS AW § | 5

Hgdar

3 A WA g, T M20 5l F v p (Grub Screw) ¥ RT@ 39 3R
T ¥ W RS S| G A S S |

{(a) Draw to scale 1:1, the standard profile of a BSW (British Standard Whitworth)
thread (enlarged pitch 50 mm). Give all the standard dimensions.

OR

Draw to scale 1:1, the sectional front view of a Single Riveted Lap Joint for the
plate thickness of 16 mm. Give all the standard dimensions.

(b) Sketch free hand the front view and side view of a Collar Stud (diameter
20 mm) keeping its axis horizontal. Give all the standard dimensions.

OR

Sketch free hand the front view and top view of a Grub Screw of size M20
keeping its axis vertical. Give all the standard dimensions.
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Figure-1 s;hows the details of the parts of a SOCKET AND SPIGOT JOINT. Assemble
these parts correctly, and then draw the following views using scale 1 : 1.

(1) Front view, upper half in section.
(i) Side view viewed from the left.

Print the title and the scale used. Draw the projection symbol. Give 6 important
dimensions.
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FRONT VIEW SIDE VIEW VIEW  VIEW
SPIGOT (M.S) 1-OFF COTTER (M.S) 1-OFF

SPIGOT AND SOCKET JOINT
Note : Figure not to scale. Use the given dimensions for solutions.
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Figure-2 shows the Orthographic Views of the assembly of a PROTECTED FLANGE
COUPLING. Disassemble the parts and then draw the following views of the
following parts to scale 1 : 1, keeping the same positions of both the Flange-A and the
Shaft-A, with respect to H.P. and V.P.

(1) Flange-A :
(i)  Front View, showing lower half in section.
(i) Side View, viewed from the left
(2) Shaft-A:
7 (i) Front View
f('ii) Side View, viewed from the right

Print titles of both. Give 6 important dimensions. Also draw the projection

symbol. Give the scale used.
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®

(i)

(iii)

(iv)

)

U GHARHAT 79 S T §, T QU |9t (Main scale) 3T U HROREmOT At
(Isometric scale) & == %1 vy it SfoT F AT E 2

(3 30°

® 45°

@ 15°

@ 90°

wifgeh T § TS BT (Thread angle) T s F @ & 2

(3 45°

@ 60°

@ 75°

® 90°

Fi% D 9 &1 AT €, T STEAHR G 91 (sunk key) 3T =St feert gt 2
(3 15D

@ DA

(W D/4

@ D/6

T § WHR FH 9afon F qu <t et F fenfor s 2

(3 3o 3RAT (Open Bearing)

(%) fome R =t (Simple Plummer Block)

(¥) ¥ F4RTT (Bushed Bearing)

(R) e IR (Footstep Bearing)

U ot 972 Telt (V-belt pulley) 3 @iet &7 0T e 3791 &7 & & 2

(3 40°
@ 90°

@ 30°

(X 60°
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for more materials visit www.educationobserver.com/forum

Answer the following Multiple Choice Questions. Print the correct choice on your
drawing sheet.

(i) What is the angle in degree between the Main Scale and Isometric Scale in the
construction of Isometric Scale ?

(@)
(®)
(c)
(d)

30°
45°
15"
90°

(i) What is the thread angle in degree of a Metric thread ?

(a)
(b)
(c)
(@

45°
60°
-
90°

(iii) What is the width of the Rectangular Sunk Key, if the diameter of the shaftis D ?

(2)
(b)
(©)
(@

15D
D/8
D/4
D/6

(iv) In which type of bearing the Bush is split into two halves ?

(a)
(b)
(c)
(d)

Open Bearing
Simple Plummer Block
Bushed Bearing

Footstep Bearing

(v) What is the angle in degree of the groove in a V-belt pulley ?

(@)
(b)
(©)
(d)

40°
90°
30°
60° -





